
AEA 2 SERIES-A 

PART –I   GENERAL STUDIES 

 
1. India is to observe ‘Good Governance Day’ on the birthday of: 

(a) Jawahar Lal Nehru 

(b) Atal Bihari Bajpayee 

(c) Shyama Prasad Mukerjee 

(d) Deen Dayal Upadhyaya 

 
 

 

2. In which city the ‘Tehreek-E-Taliban’ attacked on an army-run school in December 2014? 

(a) Peshawar 

(b) Abattabad 

(c) Kohat 

(d) Bannu 

 
 

 

3. Who is the speaker of Lok Sabha at present? 

(a) Amit Shah 

(b) Suresh Prabhu 

(c) Sumitra Mahajan 

(d) Anandi Ben Patel 

 
 

 

4. ‘GSLV Mark-3’ Satellite was launched on? 

(a) 2nd December 2014 

(b) 18th December 2014 

(c) 24th December 2014 

(d) 27th November 2014 

 

 
 

5. Who was sworn in as Chief Minister of Maharashtra on 31st October 2014? 

(a) Narayan Rane 

(b) Suresh Prabhu 

(c) Hari Vinayak Damodar 

(d) Devendra Fadnavis 

 

 
 

6. The famous book ‘Half Girlfriend’ is written by? 

(a) Chetan Bhagat 

(b) Jhumpa Lahiri 

(c) Arundhati Roy 

(d) Mahashweta Devi 
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Hkkx & I lkekU; v/;;u 

 

1. Hkkjr esa ^xqM xousZal Ms* tUefnu ds volj ij euk;k tkus okyk gS%& 

(a) tokgj yky usg: ds  

(b) vVy fcgkjh cktis;h ds 

(c) “;kek izlkn eqdthZ ds 

(d) nhu n;ky mik/;k; ds 

 
 

2. fnlEcj 2014 esa *rgjhd&,&rkfycku* laxBu us fdl “kgj esa lsuk lapkfyr Ldwy ij geyk fd;k\ 

(a) is”kkoj 

(b) ,scVkckn 

(c) dksgkV 

(d) cUuw 

 
 

3. orZeku esa yksd lHkk v/;{k dkSu gSa\ 

(a) vfer “kkg 

(b) lqjs”k izHkq 

(c) lqfe=k egktu 

(d) vkuUnh csu iVsy 

 

 

4. *th0,l0,y0oh0 ekdZ&3^ mixzg dc NksMk x;k\ 

(a) 2 fnlEcj 2014 dks 

(b) 18 fnlEcj 2014 dks 

(c) 24 fnlEcj 2014 dks 

(d) 27 uoEcj 2014 dks 

 

 

5. 31 vDVwcj 2014 dks egkjk’Vª ds eq[;eU=h ds :i esa fdldks “kiFk fnykbZ x;h\ 

(a) Ukkjk;.k jk.ks 

(b) lqjs”k izHkq 

(c) gfj fouk;d nkeksnj 

(d) nsosUnz QM+uohl 

 

 

6. izfl) iqLrd ^gkQ xyZÝS.M* fy[kh xbZ gS\ 

(a) psru Hkxr }kjk 

(b) >qEik ykfgMh+ }kjk 

(c) v#U/krh jkW; }kjk 

(d) egk”osrk nsoh }kjk 
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7. The Rigvedic deity not found in Avesta is: 

(a) Indra 

(b) Varuna 

(c) Agni 

(d) Mitra 

 

8. The concept of ‘Brahma’ started with: 

(a) Brahmanas 

(b) Aranyakas 

(c) Upanishads 

(d) Vedas 

 

9. The ‘Pakistan Resolution’ was drafted by: 

(a) Rehmat Ali 

(b) M.A. Zinnah 

(c) Fazal-ul-Haque 

(d) Sikandar Hayat Khan 

 

10. The British monarch at the time of Indian Independence was: 

(a) George V 

(b) George VI 

(c) King Edward VII 

(d) None of these 

 

11. Who among the following women participated in the Salt Satyagraha (Namak Aandolan) of 

Gandhiji? 

(a) Sarojini Naidu 

(b) Rajkumari Amrit Kaur 

(c) Kamala Devi Chattopadhyay 

(d) All the above 

 

12. Match the following titles with their leader and select the correct option from the code given 

below: 

Titles    Leaders 

1. Gurudev  A. Chitaranjan Das 

2. Lokmanya  B. Lala Lajpat Rai 

3. Deshbandhu  C. Bal Gangadhar Tilak 

4. Sher-E-Punjab  D. Rabindranath Tagore 
 

Code: A B C D 

(a) 3 4 2 1 

(b) 1 3 2 4 

(c) 4 3 2 1 

(d) 1 4 2 3 
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7. _XoSfnd nsork ftldk mYys[k vosLrk es ugha gS% 

(a) bUnz 

(b) o:.k 

(c) vfXu 

(d) fe= 
 

8. ^czã^ dh vo/kkj.kk izkjEHk gqbZ% 

(a) czkge.k xzUFkksa ls 

(b) vkj.;dksa ls  

(c) mifu’knksa ls 

(d) osnksa ls 

 

9. ^ikfdLrku izLrko* dk izk:i cuk;k x;k Fkk% 

(a) jger vyh 

(b) eq0 v0 ftUuk 

(c) Qtyqy gd+ 

(d) fldUnj g;kr [kku 

 

10. Hkkjr dh LorU=rk ds le; fczVsu dk lezkV Fkk% 

(a) tktZ iape 

(b) tktZ ‘k’Be~ 

(c) fdax ,MoMZ lIre~ 

(d) mijksDr esa ls dksbZ ugha 

 

11. fuEufyf[kr esa ls fdl@fdu efgyk@efgykvksa us xka/khth ds ued lR;kxzg ¼ued vkUnksyu½ esa Hkkx 

fy;k\ 

(a) ljksftuh uk;Mw 

(b) jktdqekjh ve`r dkSj 

(c) deyknsoh pêksik/;k; 

(d) mijksDr lHkh 

 

12. fuEufyf[kr mikf/k;ksa dks muls lEcfU/kr usrk ls lqesfyr djds uhps fn;s x;s dwVksa ls lgh mÙkj p;fur 

dhft,% 

mikf/k    usrk 

1- xq:nso    A- fprjatu nkl 

2- yksdekU;   B- ykyk yktir jk; 

3- ns”kcU/kq    C- cky xaxk/kj fryd 

4- “ksj&,&iatkc   D- jchUnzukFk VSxksj 

 ¼iatkc dsljh½ 

dwV% A B C D 

(a) 3 4 2 1 

(b) 1 3 2 4 

(c) 4 3 2 1 

(d) 1 4 2 3 
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13. Who was called ‘Chanakya’ of Maratha Politics? 

(a) Baji Rao II 

(b) Nana Fadnavis 

(c) Balaji Vishwanath 

(d) Mahadji Scindia 

 

 

14. Which one of the following places was famous as the capital of Tipu Sultan? 

(a) Gulbarga 

(b) Hampi 

(c) Srirangapattanam 

(d) Mysore 

 

 

15. Which of the following places was the capital of Raja Ranjit Singh of Punjab: 

(a) Lahore 

(b) Amritsar 

(c) Rawalpindi 

(d) Patiala 

 

 

16. The original name of Swami Dayanand Saraswati was: 

(a) Girija Shankar 

(b) Gauri Shankar 

(c) Daya Shankar 

(d) Mula Shankar 
 

 

17. Nagarjuna Sagar Dam Project is located in the state of: 

(a) Andhra Pradesh 

(b) Karnataka 

(c) Odisha 

(d) Madhya Pradesh 

 

 

18. The time taken by the earth to complete one revolution in its orbit around the sun is: 

(a) 364 days 4 hours 40 minutes 15 seconds 

(b) 364 days 2 hours 10 minutes 09 seconds 

(c) 365 days 5 hours 48 minutes 46 seconds 

(d) 365 days 9 hours 50 minutes 33 seconds 

 
 

19. In which state of India the sunrise will occur the earliest: 

(a) Nagaland 

(b) Arunachal Pradesh 

(c) Mizoram 

(d) Manipur 
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13. ejkBk jktuhfr dk ^pk.kD;* fdls dgk tkrk Fkk\ 

(a) ckth jko f}rh; 

(b) ukuk QM+uchl 

(c) ckykth fo”oukFk 

(d) egknth flfU/k;k 

 

14. fuEufyf[kr esa ls dkSu lk LFkku Vhiw lqYrku dh jkt/kkuh ds :i esa fo[;kr Fkk\ 

(a) xqycxkZ 

(b) gkEih 

(c) Jhjaxiêue 

(d) eSlwj 

 

15. fuEu LFkkuksa esa ls dkSu iatkc ds jktk j.kthr flag dh jkt/kkuh Fkk\ 

(a) ykgkSj 

(b) ve`rlj 

(c) jkoyfi.Mh 

(d) ifV;kyk 

 

16. Lokeh n;kuUn ljLorh dk ewy uke Fkk%& 

(a) fxfjtk “kadj 

(b) xkSjh “kadj 

(c) n;k “kadj 

(d) ewy “kadj 

 

17. ukxktqZu lkxj cka/k ifj;kstuk jkT; esa fLFkr gSa% 

(a) vkU/kz izns”k esa  

(b) dukZVd esa 

(c) vksfMlk esa 

(d) e/; izns”k esa 

 

18. i`Foh }kjk viuh d{kk esa lw;Z dk ,d iwjk pDdj yxkus dk le; gS% 

(a) 364 fnu 4 ?k.Vs 40 feuV 15 lsds.M 

(b) 364 fnu 2 ?k.Vs 10 feuV 09 lsds.M 

(c) 365 fnu 5 ?k.Vs 48 feuV 46 lsds.M 

(d) 365 fnu 9 ?k.Vs 50 feuV 33 lsds.M 

 

19. Hkkjr ds fdl jkT; esa lw;ksZn; lcls igys ?kfVr gksxk\ 

(a) ukxkyS.M 

(b) v:.kkpy izns”k 

(c) fetksje 

(d) ef.kiqj 
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20. Winter rainfall in North-Western India is caused by: 

(a) South-West  Monsoons 

(b) Retreating Monsoons 

(c) Trade Winds 

(d) Western Disturbances 

 
21. What was the percentage of growth in the total population of India during the decade 2001-11? 

(a) 17.64% 

(b) 19.76% 

(c) 21.18% 

(d) 22.46% 

 
22. What is the difference between Greenwitch Mean Time (GMT) and Indian Standard Time (IST)? 

(a) - 5
1

4
  Hours 

(b) + 5
1

2
  Hours 

(c) - 5
1

2
  Hours 

(d) + 5
1

4
  Hours 

 

23. The grasslands of Argentina are known as: 

(a) Savanna 

(b) Campos 

(c) Pampas 

(d) Velds 

 
24. The main source of manufacturing of Aluminium is: 

(a) Bauxite ore 

(b) Siderite ore 

(c) Cassilerite ore 

(d) Magnetite ore 

 
25. Who was the propounder of ‘Continental Drift Theory’? 

(a) Arther Holmes 

(b) Lothian Green 

(c) Jeffreys 

(d) Alfred Wegener 

 
26. Which elements are abundant in the formation of innermost layer of the earth? 

(a) Silica and Aluminium  

(b) Nickel and Ferrium 

(c) Silica and Magnesium 

(d) Basalt and Silica 
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20. mÙkj&if”peh Hkkjr esa “khrdkyhu o’kkZ dk dkj.k gS& 

(a) nf{k.kh&if”peh ekulwu 

(b) fuorZuh ¼ykSVrs gq,½ ekulwu 

(c) O;kikfjd gok,a 

(d) if”peh fo{kksHk 

 

21. 2001&11 n”kkCnh ds nkSjku Hkkjr dh dqy tula[;k esa fdrus izfr”kr dh o`f) gqbZ Fkh\ 

(a) 17-64% 

(b) 19-76% 

(c) 21-18% 

(d) 22-46% 

 

22. xzhufop ekud le; vkSj Hkkjrh; ekud le; esa fdruk vUrj gksrk gS\ 

(a) - 5
1

4
  ?k.Vs 

(b) + 5
1

2
  ?k.Vs 

(c) - 5
1

2
  ?k.Vs 

(d) + 5
1

4
  ?k.Vs 

 

23. vtZsUVkbuk ds ?kkl {ks=ksa ¼?kkl ds eSnkuksa½ dks dgrs gSa% 

(a) lokuk 

(b) dkEikst 

(c) iEikt 

(d) osYMl~ 

 

24. vY;wfefu;e fofuekZ.k dk izeq[k L=ksr gS% 

(a) ckDlkbV v;Ld 

(b) lkbMsjkbV v;Ld 

(c) dSflysjkbV v;Ld 

(d) eSXusVkbV v;Ld 

 

25. ^egk}hih; foLFkkiu fl)kUr* ds izfriknd dkSu FkS\ 

(a) vkFkZj gksEl 

(b) yksfFk;u xzhu 

(c) tsQjht 

(d) vYÝsM osxuj 

 

26. i`Foh dh vUrjre ijr ds fuekZ.k esa fdu rÙoksa dh iz/kkurk gS\ 

(a) flfydk vkSj vY;wfefu;e 

(b) fufdy vkSj Qsfj;e 

(c) flfydk vkSj eSXusf”k;e 

(d) clkYV vkSj flfydk 
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27. Which of the following is called ‘Ring of Fire’? 

(a) Circum-Pacific Oceanic Belt 

(b) Indian Ocean Belt 

(c) Mid-Continental Belt 

(d) Mid-Oceanic Belt 
 

 

28. The six freedoms of the Indian citizens have been enshrined in: 

(a) Article 14 to 18 

(b) Article 14 to 35 

(c) Article 19 

(d) Article 21 to 26 
 

 

29. Which of the following lines passes through India? 

(a) Tropic of Cancer 

(b) Tropic of Capricorn 

(c) Equator 

(d) 0° Meridian 
 

 

30. The President can vacate his office by addressing his resignation to: 

(a) The Prime Minister 

(b) The Speaker of Lok Sabha 

(c) Chief Justice of India 

(d) The Vice-President 

 

 

31. The interim government which was founded on 14 August 1947 was headed by: 

(a) Sardar Ballabhbhai Patel 

(b) G.B. Pant 

(c) Jawahar Lal Nehru 

(d) Rajendra Prasad 

 

 

32. The Constitution of India was adopted on: 

(a) 26th January 1950 

(b) 26th November 1949 

(c) 9th December 1946 

(d) 15th August 1949 

 

 

33. The Judges of the Supreme Court hold office till they reach the age of: 

(a) 62 Years 

(b) 60 Years 

(c) 65 Years 

(d) There is no upper age limit 
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27. fuEufyf[kr esa ls fdls *vfXuòÙk^ dgrs gSa\ 

(a) ifjiz”kkUr egklkxjh; isVh 

(b) fgUn egklkxjh; isVh 

(c) e/; egk}hih; isVh 

(d) e/; egklkxjh; isVh 

 

28. Hkkjrh; ukxfjdksa dks N% LorU=rk,a izfrLFkkfir dh xbZ gSa% 

(a) vuqPNsn 14 ls 18 rd 

(b) vuqPNsn 14 ls 35 rd 

(c) vuqPNsn 19 esa 

(d) vuqPNsn 21 ls 26 rd 

 

29. fuEu js[kkvksa esa ls dkSu Hkkjr ls gksdj xqtjrh gS\ 

(a) ddZ js[kk 

(b) edj js[kk 

(c) Hkwe/; js[kk 

(d) 0° e/;ku js[kk 

 

30. jk’Vªifr viuk R;kxi= lEcksf/kr djrs gq, viuk in NksM+ ldrk gS% 

(a) iz/kkueU=h dks 

(b) yksdlHkk ds v/;{k dks 

(c) Hkkjr ds eq[; U;k;k/kh”k dks 

(d) mijk’Vªifr dks 

 

31. varfje ljdkj] ftldh LFkkiuk 14 vxLr 1947 dks gqbZ] ds eqf[k;k Fks% 

(a) ljnkj cYyHkHkkbZ iVsy 

(b) th0 ch0 iUr 

(c) tokgj yky usg: 

(d) jktsUnz izlkn 

 

32. Hkkjrh; lafo/kku vaxh—r fd;k x;k% 

(a) 26 tuojh 1950 dks 

(b) 26 uoEcj 1949 dks 

(c) 9 fnlEcj 1946 dks 

(d) 15 vxLr 1949 dks 

 

33. loksZPp U;k;ky; ds U;k;k/kh”k rc rd vius in ij cus jgrs gSa tc rd mudh mez ugha gks tkrh% 

(a) 62 o’kZ 

(b) 60 o’kZ 

(c) 65 o’kZ 

(d) vk;q dh Åijh lhek fu/kkZfjr ugha 
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34. During which of the following periods ‘Van-Mahotsav’ is celebrated? 

(a) From 1 to 7 July 

(b) From 7 to 10 July 

(c) From 1 to 7 October 

(d) From 1 to 7 August 
 

 

35. In which year the first industrial policy was enacted for the industrial development in India? 

(a) In 1950 

(b) In 1956 

(c) In 1952 

(d) In 1948 
 

 

36. The main part of fiscal policy is: 

(a) Production policy 

(b) Tax policy 

(c) Money policy 

(d) Interest-rate policy 

 
 

37. National Bank of Agriculture and Rural Development (NABARD) was established in: 

(a) 19th July 1982 

(b) 19th July 1983 

(c) 19th July 1984 

(d) None of these 

 
 

38. On which of the following dates ‘Foreign Exchange Management Act’ was implemented in India? 

(a) 31st May 2000 

(b) 25th June 2002 

(c) 1st June 2000 

(d) 1st February 2002 

 
 

39. EXIM Bank was established in India on: 

(a) 1st January 1982 

(b) 1st January 1992 

(c) 1st January 2002 

(d) 1st January 2007 
 

 

40. The ‘TIDEL Park’ is situated in: 

(a) Jaipur (Rajasthan) 

(b) Taramani (Chennai) 

(c) Lucknow (Uttar Pradesh) 

(d) Paradip (Odisha) 
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34. fuEu vof/k;ksa esa ls ^ou&egksRlo* fdl nkSjku euk;k tkrk gS\ 

(a) 1 ls 7 tqykbZ 

(b) 7 ls 10 tqykbZ 

(c) 1 ls 7 vDVwcj 

(d) 1 ls 7 vxLr 

 

35. Hkkjr esa vkS|ksfxd fodkl ds fy, izFke vkS|ksfxd uhfr dc fufeZr dh x;h Fkh\ 

(a) 1950 esa 

(b) 1956 esa 

(c) 1952 esa 

(d) 1948 esa 

 

36. jktdks’kh; uhfr dk izeq[k vax gS% 

(a) mRiknu uhfr 

(b) dj uhfr 

(c) eqnzk uhfr 

(d) C;kt&nj uhfr 

 

37. jk’Vªh; —f’k vkSj xzkeh.k fodkl cSad ¼ukckMZ½ dh LFkkiuk dh x;h Fkh% 

(a) 19 tqykbZ 1982 esa 

(b) 19 tqykbZ 1983 esa 

(c) 19 tqykbZ 1984 esa 

(d) mijksDr esa ls dksbZ ugha 

 

38. fuEu frfFk;ksa esa ls fdl ij Hkkjr esa *fons”kh fofue; izca/ku vf/kfu;e^ ykxw fd;k x;k Fkk\ 

(a) 31 ebZ 2000 

(b) 25 twu 2002 

(c) 1 twu 2000 

(d) 1 Qjojh 2002 

 

39. Hkkjr esa vk;kr&fu;kZr caSd ¼EXIM Bank½ dh LFkkiuk dh xbZ% 

(a) ,d tuojh 1982 dks 

(b) ,d tuojh 1992 dks 

(c) ,d tuojh 2002 dks 

(d) ,d tuojh 2007 dks 

 

40. *VkbMsy ikdZ^ fLFkr gS% 

(a) t;iqj ¼jktLFkku½ 

(b) rkjkef.k ¼psUubZ½ 

(c) y[kuÅ ¼mÙkj izns”k½ 

(d) ikjknhi ¼vksfM”kk½ 
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41. The Preamble of the Indian Constitution declares India as a: 

(a) Sovereign Democratic Republic 

(b) Sovereign Socialist Democratic Republic 

(c) Sovereign Socialist Secular Democratic Republic 

(d) Sovereign Socialist Secular Federal Democratic Republic  
 

 

42. The principle on which an atomic power plant works is: 

(a) Fusion 

(b) Thermal combustion 

(c) Combined effect of (a) and (b) 

(d) Fission 
 

 

43. 10-12 second is called: 

(a) Micro second 

(b) Nano second 

(c) Pico second 

(d) Milli second 
 

 

44. Which of the following is a viral disease: 

(a) Small Pox 

(b) Tuberculosis 

(c) Malaria 

(d) Cholera 
 

 

45. Which one of the following is non-bio-degradable pollutant? 

(a) Municipal sewage 

(b) Paper wastes 

(c) Vegetable wastes 

(d) Tin cans 

 
 

46. The density of water is maximum at: 

(a) 100°C 

(b) + 4°C 

(c) 0°C 

(d) - 4°C 

 
 

47. Which acid substance is found in vinegar? 

(a) Lactic acid 

(b) Citric acid 

(c) Acetic acid 

(d) Maleic acid 
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41. Hkkjrh; lafo/kku dh izLrkouk Hkkjr dks ?kksf’kr djrh gS% 

(a) laizHkq iztkrkfU=d x.krU= 

(b) laizHkq lektoknh iztkrkfU=d x.krU= 

(c) laizHkq lektoknh /keZfujis{k iztkrkfU=d x.krU= 

(d) laizHkq lektoknh /keZfujis{k la?kh; iztkrkfU=d x.krU= 

 

42. ,d ijek.kq “kfDr la;U= ftl fl)kUr ij dke djrk gS] gS% 

(a) lay;u 

(b) rkih; ngu 

(c) (a) ,oa (b) nksuks dk la;qDr izHkko 

(d) fo[k.Mu 

 

43. 10&12 lsdUM dks dgrs gSa%& 

(a) ekbØks lsds.M 

(b) uSuks lsds.M 

(c) fidks lsds.M 

(d) feyh lsds.M 

 

44. fuEu esa ls dkSu lk fo’kk.kq tfur jksx gS% 

(a) pspd ¼Leky ikWDl½ 

(b) Vh0 ch0 ¼riSfnd½ 

(c) eysfj;k 

(d) dkWyjk ¼gStk½ 

 

45. fuEu esa ls dkSu lk vtSovoØe.kh; iznw’kd gS\ 

(a) uxj ikfydkvksa dk lhost 

(b) fu’iz;kstuh; dkxt 

(c) fu’iz;kstuh; lfCt;ka 

(d) fVu ds MCcs 

 

46. ikuh dk ?kuRo vf/kdre~ gksrk gS% 

(a) 100° ls0 ij 

(b) $ 4° ls0 ij 

(c) 0° ls0 ij 

(d) & 4° ls0 ij 

 

47. fljdk esa dkSu lk vEyh; inkFkZ ik;k tkrk gS\ 

(a) ySfDVd vEy 

(b) lhfVªd vEy 

(c) ,flfVd vEy 

(d) eSfyd vEy 
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48. Electric current cannot flow through: 

(a) Silver 

(b) Copper 

(c) Wood 

(d) Iron 
 

 

49. Who of the following is known as the father of geography? 

(a) Eratosthenese 

(b) A.V. Humboldt 

(c) Blache 

(d) P. Hagget 

 
 

50. Mammoth is the ancestor of: 

(a) Dog 

(b) Horse 

(c) Camel 

(d) Elephant 
 

 

51. Which one of the following is scientific language of the computer: 

(a) BASIC 

(b) FORTRAN 

(c) COBOL 

(d) PASCAL 
 

 

52. Very small time intervals are accurately measured by: 

(a) White dwarfs 

(b) Quartz clocks 

(c) Atomic clocks 

(d) Pulsars 
 

 

53. Which of the following is not an insect? 

(a) Bed bug 

(b) Spider 

(c) House fly 

(d) Mosquito 
 

 

54. The blood group which have no antigen is: 

(a) A 

(b) B 

(c) AB 

(d) O 
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48. fo|qr /kkjk izokfgr ugh gks ldrh gS% 

(a) pkanh esa 

(b) rkack esa 

(c) ydM+h esa 

(d) yksgk esa 

 

49. fuEu esa ls fdls Hkwxksy dk tud dgk tkrk gS\ 

(a) bjkVksLFkuht 

(b) ,0 oh0 gEcksYV 

(c) Cyk”k 

(d) ih0 gSxsV 

 

50. eSeFk iwoZt Fks% 

(a) dqÙks ds 

(b) ?kksMs+ ds 

(c) ÅaV ds 

(d) gkFkh ds 

 

51. dEI;wVj dh oSKkfud Hkk’kk fuEu esa ls dkSu lh gS% 

(a) csfld 

(b) QkZsVªku 

(c) dkscksy 

(d) ikLdy 

 

52. cgqr NksVs le; vUrjky “kq)rk ls ekis tk ldrs gSa% 

(a) OgkbV M~okQZl }kjk 

(b) DokVZ~t ?kfM;ksa }kjk 

(c) ijek.kq ?kfM;ksa }kjk 

(d) iYlj }kjk 

 

53. fuEufyf[kr esa ls dkSu lk ,d dhV ugha gS\ 

(a) [kVey 

(b) edM+h 

(c) ?kjsyw eD[kh 

(d) ePNj 

 

54. og :f/kj oxZ ftlesa ,UVhtu ugh ikbZ tkrh gS% 

(a) A 

(b) B 

(c) AB 

(d) O 
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55. The two major components of Echosystem are: 

(a) Biotic and Abiotic 

(b) Herbs and Shrubs 

(c) Plants and Animals 

(d) Water and Air 

 
 

56. Which one of the following is not a radioactive element? 

(a) Uranium 

(b) Thorium 

(c) Cadmium 

(d) Radium 
 

 

57. Which one of the following is not known as green house gas? 

(a) Methane 

(b) Nitrous Oxide 

(c) Carbon Dioxide 

(d) Hydrogen 
 

 

58. ‘The earth revolves around the sun’. This was discovered by:- 

(a) Copernicus 

(b) Kepler 

(c) Galilio 

(d) Newton 
 

 

59. The chemical name of Vitamin B2 is: 

(a) Pyridoxin 

(b) Riboflavin 

(c) Ascorbic Acid 

(d) Thiamine 

 
 

60. The acid used in eye wash is: 

(a) Oxalic acid 

(b) Nitric acid 

(c) Boric acid 

(d) Acetic acid 

 
 

61. What is ‘BOD’? 

(a) Biological Oxygen Demand 

(b) Biomedical Oxygen Demand 

(c) Biochemical Oxygen Demand 

(d) Biosphere Oxygen Demand 
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55. ikfjfLFkfrdh rU= ds nks izeq[k ?kVd ¼vo;o½ gSa% 

(a) tSfod ,oa vtSfod 

(b) “kkd ,oa ÖkkM+h 

(c) ikni ,oa tUrq 

(d) ikuh ,oa gok 

 

56. fuEu esa ls dkSu lk ,d jsfM;ks,fDVo rÙo ugha gS\ 

(a) ;wjsfu;e 

(b) Fkksfj;e 

(c) dSMfe;e 

(d) jsfM;e 

 

57. fuEufyf[kr esa ls dkSu lh xzhu gkÅl xSl tSlh ugha tkuh tkrh gS\ 

(a) ehFksu 

(b) ukbVªl vkWDlkbM 

(c) dkcZu&MkbZ&vkWDlkbM 

(d) gkbMªkstu 

 

58. ^i`Foh lw;Z dh ifjØek djrh gS*A bldh [kkst dh Fkh% 

(a) dksijfudl us 

(b) dsiyj us  

(c) xSfyfy;ks us 

(d) U;wVu us 

 

59. foVkfeu ch2 dk jklk;fud uke gS% 

(a) ikbfjMkWfDlu 

(b) jkbcks¶ysfou 

(c) ,LdkWfcZd vEy 

(d) Fkk;ehu 

 

60. vk¡[ks /kksus esa iz;qDr gksus okyk vEy gS% 

(a) vkWDtsfyd vEy 

(b) ukbfVªd vEy 

(c) cksfjd vEy 

(d) ,flfVd vEy 

 

61. ‘BOD’ D;k gS\ 

(a) Ckk;ksykWftdy vkWDlhtu fMek.M 

(b) Ckk;ksesfMdy vkWDlhtu fMek.M 

(c) Ckk;ksdsfedy vkWDlhtu fMek.M 

(d) Ckk;ksLQs;j vkWDlhtu fMek.M 
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62. As per census of India 2011 (final figures) the population of Uttarakhand is: 

(a) 1,01,16,752 

(b) 1,08,06,651 

(c) 1,10,16,556 

(d) 1,00,86,282 

 

 

63. Which among the following musical instruments was introduced by Britishers? 

(a) Binaee 

(b) Mushak Been 

(c) Turturi 

(d) Damama 

 

 

64. Which one of the following festivals is related to fishing in Yamuna Basin? 

(a) Panchan 

(b) Maun fair (Maun Mela) 

(c) Jagra 

(d) Bissu Mela 

 

 

65. Match the following lists and find the correct answer from the code given below: 

 

List-I     List-II 

Persons    Specialization 

 

A. Gaura Pant   1. Badminton 

B. Chandra Prabha Aitwal 2. Journalism 

C. Madhumita Bisht  3. Literature 

D. Mrinal Pandey   4. Mountaineering 

 

Code: A B C D 

(a) 3 4 1 2  

(b) 3 2 4 1 

(c) 3 4 2 1 

(d) 3 1 2 4 

 

 

66. In which year Kumaun was merged into Gorkha Kingdom? 

(a) 1798 

(b) 1804 

(c) 1790 

(d) 1815 
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62. Hkkjr dh tux.kuk 2011 ds vfUre vkadM+ksa ds vuqlkj mÙkjk[k.M dh tula[;k gS% 

(a) 1]01]16]752 

(b) 1]08]06]651 

(c) 1]10]16]556 

(d) 1]00]86]282 

 

 

63. fuEu esa ls dkSu lk laxhr ok|;U= vaxzstksa }kjk izpyu esa yk;k x;k Fkk\ 

(a) fc.kkbZ 

(b) e”kd chu ¼e”kd cktk½ 

(c) rqjrqjh 

(d) nekek 

 

 

64. fuEu R;ksgkjksa esa ls ;equk csflu esa dkSu lk eRL;k[ksV ls lEcfU/kr gS\ 

(a) iapk.k 

(b) ekS.k esyk 

(c) tkxM+k 

(d) fclw esyk 

 

 

65. fuEufyf[kr lwfp;ksa dks lqesfyr dhft, vkSj uhps fn;s x;s dwV ls lgh mÙkj pqfu,% 

 

lwph-I    lwph-II  

¼O;fDr½    ¼fof”k’Vrk½ 

 A. xkSjk iUr  1- cSMfe.Vu 

 B. pUnzizHkk ,Voky  2- i=dkfjrk 

 C. e/kqferk fc’V  3- lkfgR; 

 D. e`.kky ik.Ms  4- ioZrkjksg.k 

 

dwV% A B C D 

(a) 3 4 1 2 

(b) 3 2 4 1 

(c) 3 4 2 1 

(d) 3 1 2 4 

 

 

66. fdl o’kZ dqek;wa dk xksj[kk lkezkT; esa foy; gqvk Fkk\ 

(a) 1798 bZ0 esa 

(b) 1804 bZ0 esa 

(c) 1790 bZ0 esa 

(d) 1815 bZ0 esa 
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67. Match the following lists and find the correct answer from the code given below: 

 

List-I      List-II  

(Govt. Industrial Units)     (Location) 

A. Bharat Heavy Electricals Ltd.   1. Raipur 

B. Bharat Electronics Ltd.   2. Ranibagh 

C. Hindustan Machine Tools   3. Kotdwar 

D. Ordinance Factory    4. Haridwar 

Code: A B C D 

(a) 4 2 1 3 

(b) 4 1 2 3 

(c) 1 2 3 4 

(d) 4 3 2 1 

 

68. The fault line occurring between Great Himalaya and Lesser Himalaya in Uttarakhand is known 

as: 

(a) Himalayan Frontal Thrust 

(b) Main Central Thrust 

(c) Main Boundary Thrust 

(d) Trans Himalayan Thrust 

 

69. The Pancheshwar Dam is proposed to be built at the confluence of: 

(a) Tons and Yamuna Rivers 

(b) Gagas and Ramganga (West) Rivers 

(c) Gauri Ganga and Kali Rivers 

(d) Saryu and Kali Rivers 

 

70. Among the following who is not a historian of Uttarakhand? 

(a) Harikrishna Raturi 

(b) Badri Datt Pandey 

(c) Chandra Singh Garhwali 

(d) Shiv Prasad Dabral 

 

71. How many municipal corporations are there in Uttarakhand? 

(a) 03 

(b) 04 

(c) 05 

(d) 06 

 

72. Which one of the following assembly constituencies of Kumaun Division is now included in 

Garhwal Parliamentary Constituency: 

(a) Jaspur 

(b) Ramnagar 

(c) Salt 

(d) Dwarahat 
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67. fuEufyf[kr lwfp;ksa dks lqesfyr dhft, rFkk uhps fn;s x;s dwV ls lgh mÙkj pqfu,% 

lwph-I      lwph-II  

¼ljdkjh vkS|ksfxd bdkb;ka½   ¼fLFkfr½ 

A. Hkkjr gSoh bySfDVªdy fy0  1- jk;iqj 

B. Hkkjr bySDVªkWfuDl fy0   2- jkuhckx 

C. fgUnqLrku e”khu VwYl   3- dksV}kj 

D. vkWfMZusUl QSDVªh    4- gfj}kj 

dwV% A B C D 

(a) 4 2 1 3 

(b) 4 1 2 3 

(c) 1 2 3 4 

(d) 4 3 2 1 

 

68. mÙkjk[k.M esa c`gr~ ,oa y?kq fgeky;h Jsf.k;ksa ds chp vofLFkr Hkza”k js[kk dks dgk tkrk gS% 

(a) fgeky;h vxz Hkza”k 

(b) eq[; dsUnzh; Hkza”k 

(c) eq[; lhek Hkza”k 

(d) Vªkal fgeky;h ¼fgeky; ikj½ Hkza”k 

 

69. iaps”oj cka/k dk fuekZ.k laxe ij izLrkfor gS% 

(a) Vksal o ;equk ufn;ksa ds 

(b) xxkl o jkexaxk ¼if”peh½ ufn;ksa ds 

(c) xkSjhxaxk o dkyh ufn;ksa ds 

(d) lj;w o dkyh ufn;ksa ds 

 

70. fuEu esa ls dkSu mÙkjk[k.M dk bfrgkldkj ugha gS\ 

(a) gfj—‘.k jrwM+h 

(b) cnzh nÙk ik.Ms 

(c) pUnz flag x<+okyh 

(d) f”ko izlkn Mcjky 

 

71. mÙkjk[k.M esa fdrus uxj fuxe gSa\ 

(a) 03 

(b) 04 

(c) 05 

(d) 06 

 

72. dqaekÅ e.My ds fuEufyf[kr fo/kkulHkk {ks=ksa esa ls dkSu lh ,d vc x<+oky lalnh; {ks= esa “kkfey dh 

xbZ gS\ 

(a) tliqj 

(b) jkeuxj 

(c) lYV 

(d) }kjkgkV 
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73. In which district of Uttarakhand, ‘Har-Ki-Doon’ is situated? 

(a) Uttarkashi 

(b) Chamoli 

(c) Rudra Prayag 

(d) Tehri-Garhwal 
 

 

74. Name the practice by which the Gods (Dieties) are invoked in Uttarakhand: 

(a) Chonfula 

(b) Jhumailo 

(c) Chanchari 

(d) Jagar 
 

 

75. Which one of the following temples is located at the highest altitude in Uttarakhand? 

(a) Badrinath 

(b) Kedarnath 

(c) Tungnath 

(d) Rudranath 

 
 

76. Among the following which is the first feature film in Garhwali? 

(a) Ghar Jawain 

(b) Kabhi Sukh Kabhi Dukh 

(c) Kauthig 

(d) Jagwal 
 

 

77. In 2014, who got the Nobel Peace Prize with Malala Yusufzai? 

(a) Devendra Satyarthi 

(b) Kailash Satyarthi 

(c) Arundhiti Roy 

(d) Medha Patkar 
 

 

78. Which one of the following is not a member of BRICS group? 

(a) Russia 

(b) China 

(c) Canada 

(d) Brazil 

 
 

79. Who got the Dada Saheb Falke Award for 2013? 

(a) Pran Kishan Sikand 

(b) Dev Anand 

(c) Dilip Kumar 

(d) Ashok Kumar 
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73. mÙkjk[k.M ds fdl tuin esa *gj&dh&nwu^ fLFkr gS\ 

(a) mÙkjdk”kh 

(b) peksyh 

(c) :nz iz;kx 

(d) fVgjh&x<+oky 

 

74. ml i)fr dk uke crkb;s ftlds }kjk mÙkjk[k.M esa nsorkvksa dk vkokgu fd;k tkrk gS% 

(a) pkSaQqyk 

(b) >qeSyks 

(c) pkapM+h 

(d) tkxj 

 

75. fuEu esa ls dkSu lk efUnj mÙkjk[k.M esa lcls vf/kd ÅapkbZ ij fLFkr gS\ 

(a) cnzhukFk 

(b) dsnkjukFk 

(c) rqaxukFk 

(d) :nzukFk 

 

76. fuEu esa ls dkSu lh x<+okyh Hkk’kk dh igyh Qhpj fQYe ¼pyfp=½ gS\ 

(a) ?kj tokabZ 

(b) dHkh lq[k dHkh nq[k 

(c) dkSfFkx 

(d) tXoky 

 

77. 2014 esa eykyk ;qlqQt+bZ ds lkFk fdls ukscsy “kkfUr iqjLdkj fn;k x;k\ 

(a) nsosUnz lR;kFkhZ 

(b) dSyk”k lR;kFkhZ 

(c) v:uf/kfr jk; 

(d) es?kk ikVdj 

 

78. fuEu esa ls dkSu lk ns”k fczDl ¼BRICS½ leqnk; dk lnL; ugha gS\ 

(a) :l 

(b) phu 

(c) dukMk 

(d) czkthy 

 

79. o’kZ 2013 ds fy, nknk lkgsc QkYds iqjLdkj fdls fn;k x;k\ 

(a) izk.k fd”ku fldUn dks  

(b) nso vkuUn dks  

(c) fnyhi dqekj dks 

(d) v”kksd dqekj dks 
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80. What is the period of 12th five year plan? 

(a) 2011 - 2016 

(b) 2010 - 2015 

(c) 2013 - 2018 

(d) 2012 - 2017 
 

 

81. Who wrote ‘Natya Shashtra’? 

(a) Bhavbhuti 

(b) Matang 

(c) Bharat Muni 

(d) Bharavi 

 
 

82. Where is ‘Dalal Street’? 

(a) Delhi 

(b) Mumbai 

(c) New York 

(d) Surat 
 

 

83. When the ‘World Ozone Day’ is celebrated? 

(a) 16th September 

(b) 6th September 

(c) 16th October 

(d) 6th October 

 
 

84. When did American President Barack Obama take oath for the second term? 

(a) 20th December 2012 

(b) 1st January 2013 

(c) 20th January 2013 

(d) 1st December 2012 

 
 

85. ‘World House Sparrow Day’ is celebrated on: 

(a) 20th March 

(b) 22nd March 

(c) 22nd May 

(d) 20th May 
 

 

86. Which international newspaper has won four Pulitzer Prizes in April 2013: 

(a) The Washington Post 

(b) The Telegraph 

(c) The Sun 

(d) New York Times 
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80. 12 oha iapo’khZ; ;kstuk dh le;kof/k d;k gS\ 

(a) 2011 & 2016 

(b) 2010 & 2015 

(c) 2013 & 2018 

(d) 2012 & 2017 

 

81. ^ukV~; “kkL=* fdlus fy[kk\ 

(a) HkoHkwfr 

(b) ekrax 

(c) Hkjr eqfu 

(d) Hkkjfo 

 

82. *nyky LVªhV^ dgka gS\ 

(a) fnYyh esa  

(b) eqEcbZ esa 

(c) U;w;kdZ esa 

(d) lwjr esa 

 

83. ^fo”o vkstksu fnol* dc euk;k tkrk gS\ 

(a) 16 flrEcj 

(b) 6 flrEcj 

(c) 16 vDVwcj 

(d) 6 vDVwcj 

 

84. vesfjdh jk’Vªifr cjkd vksckek us nwljh vof/k ds fy;s “kiFk dc fy;k\ 

(a) 20 fnlEcj 2012 

(b) 1 tuojh 2013 

(c) 20 tuojh 2013 

(d) 1 fnlEcj 2012 

 

85. *fo”o xkSjS;k fnol^ dc euk;k tkrk gS\ 

(a) 20 ekpZ 

(b) 22 ekpZ 

(c) 22 ebZ 

(d) 20 ebZ 

 

86. vizsy 2013 esa fdl vUrjkZf’Vª; lekpkj i= dks pkj iqfyRt+j iqjLdkjksa ls uoktk x;k% 

(a) okf”kaxVu iksLV 

(b) n VsyhxzkQ 

(c) n lu 

(d) U;w;kdZ VkbEl 
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87. In 2014, the famous ‘Nanda Rajjat Yatra’ was performed in between: 

(a) 18th August to 6th September 

(b) 08th August to 30th August 

(c) 1st September to 25th September 

(d) 24th August to 13th September 

 

 

 

 

88. Who won the 2014 FIFA World Cup? 

(a) Brazil 

(b) Argentina 

(c) Germany 

(d) The Netherlands 

 

 

 

 

89. The members of the Council of Ministers are collectively responsible to: 

(a) The Lok Sabha 

(b) The Rajya Sabha 

(c) Both Rajya Sabha and Lok Sabha 

(d) None of these 

 

 

 

 

90. Which of the following committees recommended the ‘Agricultural Holding Tax’ (A.H.T)? 

(a) Carbey Committee 

(b) Wanchoo Committee 

(c) Marathe Committee 

(d) Raj Committee 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



AEA 29 SERIES-A 

87. o’kZ 2014 esa lqizfl) *uUnk jkttkr ;k=k^ frfFk;ksa ds chp lEiUu gqbZ% 

(a) 18 vxLr ls 6 flrEcj 

(b) 08 vxLr ls 30 vxLr ds chp 

(c) 01 flrEcj ls 25 flrEcj ds chp 

(d) 24 vxLr ls 13 flrEcj ds chp 

 

 

 

88. o’kZ 2014 dk QhQk (FIFA) fo”odi fdlus thrk\ 

(a) czkthy 

(b) vtZsUVkbuk 

(c) teZuh 

(d) uhnjyS.M 

 

 

 

89. efU= ifj’kn ds lnL; lkewfgd :i ls mÙkjnk;h gksrs gaS% 

(a) yksdlHkk ds izfr 

(b) jkT;lHkk ds izfr 

(c) jkT;lHkk o yksdlHkk nksuksa ds izfr 

(d) buesa ls dksbZ ugha 

 

 

 

90. fuEufyf[kr lfefr;ksa esa ls fdlus ^—f’k tksr dj* (A.H.T.) dk lq>ko fn;k Fkk\ 

(a) dkosZ lfefr 

(b) okapw lfefr 

(c) ejkBs lfefr 

(d) jkt lfefr 
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PART-II GENERAL INTELLIGENCE TEST 
91. Which of the following year is not a leap year? 

(a) 1760 

(b) 1600 

(c) 1800 

(d) All the above 

 

92. The following table gives the area and population of five cities: 

City:   A B C D E 

Area:   40 65 80 30 50 

(In thousand sq. km) 

Population:  60 70 100 55 70 

(In million) 

The most densely populated city is: 

(a) B 

(b) C 

(c) D 

(d) E 

 

93. The following rectangles represent the monthly income of two families A and B 

 

 

 

 

 

 

 

If the monthly income of family B is Rs. 30,000, then monthly income of family A is: 

(a) Rs. 45,000 

(b) Rs. 60,000 

(c) Rs. 75,000 

(d) Rs. 90,000 

 

94. If the mean of 20 observations is 30, mean of 10 observations is A, and mean of combined 30 

observations is 40, then the value of A is: 

(a) 45 

(b) 50 

(c) 55 

(d) 60 

 

95. P is the father of R and S is the son of Q and T is the brother of P. If R is the sister of S, how is Q 

related to T? 

(a) Wife 

(b) Sister in law 

(c) Brother in law 

(d) Daughter in law 
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Hkkx & II lkekU; cqf) ijh{k.k 

91. fuEu esa ls dkSu lk o’kZ yhi o’kZ ugha gS\ 

(a) 1760 

(b) 1600 

(c) 1800 

(d) mijksDr lHkh 
 

92. fuEufyf[kr lkj.kh ik¡p “kgjksa dk {ks=Qy o tula[;k iznf”kZr djrh gS% 

uxj%   A B C D E 

{ks=Qy%   40 65 80 30 50 

¼gtkj oxZ fd-eh- esa½ 

tUla[;k%   60 70 100 55 70 

¼fefy;u esa½ 

tula[;k esa lokZf/kd ?kuRo okyk uxj gS% 

(a) B 

(b) C 

(c) D 

(d) E 
 

93. fuEufyf[kr vk;r nks ifjokjksa A rFkk B dh ekfld vk; iznf”kZr djrs gSa 

 

 

 

 

 

 

 

;fn ifjokj B dh ekfld vk; # 30]000 gS] rks ifjokj A dh ekfld vk; gS% 

(a) # 45]000 

(b) # 60]000 

(c) # 75]000 

(d) # 90]000 
 

94. ;fn 20 izs{k.kksa dk ek/; 30 gS] 10 izs{k.kkssa dk ek/; A gS] rFkk 30 izs{k.kksa dk la;qDr ek/; 40 gS] rks A 

dk eku gksxk% 

(a) 45 

(b) 50 

(c) 55 

(d) 60 
 

95. P, R dk firk gS vkSj S, Q dk iq= gS] T, P dk HkkbZ gSA ;fn R, S dh cfgu gS rks Q dk T ls D;k fj”rk 

gS\ 

(a) iRuh 

(b) HkkHkh 

(c) cguksbZ 

(d) iq=o/kw 
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96. The average age of three boys is 15 years and their ages are in proportion 2: 3: 4. After 5 years 

their ages will be in proportion: 

(a) 1: 2: 3 

(b) 3: 4: 5 

(c) 5: 7: 11 

(d) 2: 3: 4 

 

 

97. What will be the 30% of a number whose 90% is 54? 

(a) 12 

(b) 18 

(c) 24 

(d) 30 

 

 

98. Find the next number of the following series:- 

1,  4,  12,  32,  80,  ? 

(a) 144 

(b) 180 

(c) 192 

(d) 186 

 

 

99. Find the missing number? 

 

 

 

 

 
 

 

 

(a) 25 

(b) 32 

(c) 160 

(d) 52 

 

 

100. The sum of some numbers is 450 and their mean is 50. If another number 100 is included in 

them, then their mean will be:- 

(a) 55 

(b) 60 

(c) 75 

(d) 100 

 



AEA 33 SERIES-A 

96. rhu yMdksa dh vkSlr vk;q 15 o’kZ gS rFkk mudh vk;q 2% 3% 4 ds vuqikr esa gS 5 o’kZ ckn mudh vk;q 

dk vuqikr gksxk%& 

(a) 1% 2% 3 

(b) 3% 4% 5 

(c) 5% 7% 11 

(d) 2% 3% 4 

 
 

97. ,d la[;k ftldk 90% 54 gks] dk 30% D;k gksxk\ 

(a) 12 

(b) 18 

(c) 24 

(d) 30 

 

 

98. fuEufyf[kr J̀a[yk esa vxyk vad fudkfy;s 

1]  4]  12]  32]  80]  \ 

(a) 144 

(b) 180 

(c) 192 

(d) 186 

 
 

99. yqIr vad dks Kkr dhft, 

 

 

 

 

 

 

 

(a) 25 

(b) 32 

(c) 160 

(d) 52 

 

 

100. dqN la[;kvksa dk ;ksx 450 rFkk mudk ek/; 50 gSA ;fn ,d vU; la[;k 100 muesa “kkfey dh tkrh gS 

rks mudk ek/; gks tk;sxk% 

(a) 55 

(b) 60 

(c) 75 

(d) 100 
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101. Find the value of x in the following figure? 

 

 

 

 

 

 

 

 

(a) 3 

(b) 4 

(c) 8 

(d) 12 

 

102. The following pie diagram represents steel production of three countries A, B, and C. If steel 

production of A is 270 million tonnes, then the steel production of C is: 

 

 

 

 

 

 

(a) 300 million tonnes 

(b) 360 million tonnes 

(c) 400 million tonnes 

(d) 450 million tonnes 

 

103. If Z = 52 and ACT = 48. Then PIN will be: 

(a) 39 

(b) 52 

(c) 70 

(d) 78 

 

104. A and B start walking in opposite direction. A walked 3 km and B walked 4 km and then turned    

4 km right and 3 km left respectively. How far is each of them from the starting point? 

(a) 4.5 km 

(b) 5.0 km 

(c) 5.5 km 

(d) 6.0 km 

 

105. Which of the following word is different from others? 

HLG, UYW, BFD, NRP 

(a) HLG 

(b) UYW 

(c) BFD 

(d) NRP 
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101. fuEu fp= esa x dk eku Kkr dhft;s%& 

 

 

 

 

 

 

 

 

(a) 3 

(b) 4 

(c) 8 

(d) 12 

 

102. uhps fn;k x;k ikbZ pkVZ rhu ns”kksa A, B, rFkk C dk LVhy mRiknu iznf”kZr djrk gS] ;fn A dk 

LVhy mRiknu 270 fefy;u Vu gks] rks C dk mRiknu gksxk% 

 

 

 

 

(a) 300 fefy;u Vu 

(b) 360 fefy;u Vu 

(c) 400 fefy;u Vu 

(d) 450 fefy;u Vu 

 

103. ;fn Z = 52 rFkk ACT = 48] gks rks PIN dk eku gksxk% 

(a) 39 

(b) 52 

(c) 70 

(d) 78 

 

104. A vkSj B foijhr fn”kk esa pyuk izkjEHk djrs gSa] A 3 fd-eh- rFkk B 4 fd-eh- pyus ds iz”pkr Øe”k%  

4 fd-eh- nkfgus ,oa 3 fd-eh- ck;as ?kwe tkrs gSa] vkjfEHkd fcUnw ls izR;sd fdruh nwjh ij gSa\ 

(a) 4-5 fd-eh- 

(b) 5-0 fd-eh- 

(c) 5-5 fd-eh- 

(d) 6-0 fd-eh- 

 

105. fuEufyf[kr esa dkSu lk “kCn vU; “kCnksa ls fHkUu gS\ 

HLG, UYW, BFD, NRP 

(a) HLG 

(b) UYW 

(c) BFD 

(d) NRP 
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106. If 20 + 15 = 24 and 64 + 13 = 102, then 11 + 28 = ? 

(a) 25 

(b) 26 

(c) 68 

(d) 72 

 

107. What will be the angle between two hands of a clock at 8:30 am? 

(a) 35° 

(b) 45° 

(c) 60° 

(d) 75° 

 

108. If 𝑥 =
√2−1

√2+1
 then, 𝑥 +

1

𝑥
 is equal to: 

(a) 3 

(b) 5 

(c) 6 

(d) 2√2 

 

109. In the following diagram A, B and C represent doctors, government employees and income tax 

payers respectively. The shaded area represents: 

 

 

 

 

 

 

 

 

(a) Doctors who do not pay income tax 

(b) All doctors who are not government employees 

(c) All doctors who pay income tax 

(d) Doctors who are not government employees but pay income tax 

 

110. How many triangles are there in the following figure? 

 

 

 

 

 

 

(a) 5 

(b) 6 

(c) 8 

(d) 10 
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106. ;fn 20 + 15 = 24 rFkk 64 + 13 = 102 gks rks 11 + 28 = ? 

(a) 25 

(b) 26 

(c) 68 

(d) 72 

 

107. izkr% 8%30 cts ,d ?kMh+ dh nks lqb;ksa chp fdruk dks.k cusxk\ 

(a) 35° 

(b) 45° 

(c) 60° 

(d) 75° 

108. ;fn 𝑥 =
√2−1

√2+1
   gks rks] 𝑥 +

1

𝑥
 dk eku gksxk% 

(a) 3 

(b) 5 

(c) 6 

(d) 2√2 

 

109. fuEu fp= esa A, B rFkk C Øe”k% MkDVj] ljdkjh deZpkjh rFkk vk;dj nsus okys iznf”kZr gSaA Nk;k¡fdr 

Hkkx iznf”kZr djrk gS% 

 

 

 

 

 

 

 

 

(a) MkDVj tks vk;dj ugha nsrs 

(b) lHkh MkDVj tks ljdkjh deZpkjh ugh gSa 

(c) lHkh MkDVj tks vk;dj nsrsa gSa 

(d) MkDVj tks ljdkjh deZpkjh ugha gaS] ijUrq vk;dj nsrs gSa 

 

110. fuEu fp= esa fdrus f=Hkqt gSa\ 

 

 

 

 

 

(a) 5 

(b) 6 

(c) 8 

(d) 10 
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111. In a certain code 

(i) ADG means ‘Boys are intelligent’ 

(ii) GAM means ‘Select intelligent boys’ 

(iii)AGP means ‘Encourage intelligent boys’ 

 Which letter code means ‘Encourage’? 

(a) A 

(b) D 

(c) G 

(d) P  

 

112. A man is 24 years older than his son. In two years his age will be twice the age of his son. The 

present age of his son is: 

(a) 18 years 

(b) 20 years 

(c) 22 years 

(d) 24 years 

 

113. Choose the figure that will be obtained if a paper is folded, punched and then opened as shown in 

the figure below: 

 

 

 

 

 

 

 

(a) 

 

 

 

 

 

(b) 

 

 

 

 

(c) 

 

 

 

 

(d) 
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111. fdlh fu/kkZfjr dwV esa 

(i) ADG dk eryc gS ^yM+ds cqf)eku gSa* 

(ii) GAM dk eryc gS *cqf)eku yM+ds pqukŝ  

(iii) AGP dk eryc gS ^cqf)eku yM+dks dks izksRlkfgr djks* 

mDr dwV esa fdl o.kZ dk eryc *izksRlkfgr djks^ gS\ 

(a) A 

(b) D 

(c) G 

(d) P 

 

112. ,d O;fDr vius csVs ls 24 o’kZ cMk+ gS] 2 o’kZ ckn O;fDr dh mez vius csVs dh mez dh nks xquh gks 

tk;sxh] mlds csVs dh orZeku mez gS% 

(a) 18 o’kZ 

(b) 20 o’kZ 

(c) 22 o’kZ 

(d) 24 o’kZ 

 

113. og vk—fr pqfu;s tks n”kkZ;h x;h fof/k }kjk ,d dkxt dks eksM+us] iap djus vkSj [kksyus ij izkIr 

gksxh% 

 

 

 

 

 

 

 

(a)  

 

 

 

 

 

(b) 

 

 

 

 

(c) 

 

 

 

 

(d) 
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114. In the following sequence of boxes, the value of A and B are: 

 

 

 

 

 

 

(a) A = 4, B = 12 

(b) A = 4, B = 16 

(c) A = 6, B = 14 

(d) A = 4, B = 14 

 

 

 

 

115. At what time between 3 and 4 o’clock will the hands of a watch point in opposite directions? 

(a) 40 minutes past three 

(b) 45 minutes past three 

(c) 50 minutes past three 

(d) 55 minutes past three 

 

 

 

 

116. If CONSTITUTION is coded as DNORUHUTUHPM in a certain language, how can 

DISTRIBUTION be coded in that language? 

(a) EHTSTHCTUPHM 

(b) BHTSSHCTUHPM 

(c) EHTSSHCTUJPM 

(d) EHTSSHCTUHPM 

 

 

 

 

117. If   ‘+’ means ‘multiplied by’; 

‘-’ means ‘divided by’; 

‘x’ means ‘plus’; 

‘÷’ means ‘minus’; 

 

Then (12 + 20 x 10) – 25 ÷ 10 = ? 

(a) 0 

(b) 10 

(c) 20 

(d) 25 
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114. fuEufyf[kr [kkuksa ds vuqØe esa A rFkk B dk eku gksxk% 

 

 

 

 

 

 

(a) A = 4, B = 12 

(b) A = 4, B = 16 

(c) A = 6, B = 14 

(d) A = 4, B = 14 

 

 

 

 

115. 3 vkSj 4 cts ds chp dkSu lk le; gksxk tc ,d ?kMh+ dh lqb;ka fojks/kh fn”kkvksa esa gkasxh\ 

(a) 3 ctdj 40 feuV ij 

(b) 3 ctdj 45 feuV ij 

(c) 3 ctdj 50 feuV ij 

(d) 3 ctdj 55 feuV ij 

 

 

 

 

116. ;fn CONSTITUTION dks fdlh lkadsfrd Hkk’kk esa DNORUHUTUHPM fy[kk tkrk gS] rks 

DISTRIBUTION  dks mlh lkadsfrd Hkk’kk esa dSls fy[kk tk;sxk\ 

(a) EHTSTHCTUPHM 

(b) BHTSSHCTUHPM 

(c) EHTSSHCTUJPM 

(d) EHTSSHCTUHPM 

 

 

 

 

117. vxj ^$* dk eryc gS *xq.kk^( 

^&* dk eryc gS *Hkkx^( 

^x* dk eryc gS *tksM^( 

^ ÷* dk eryc gS *?kVkuk^( 

rks (12 + 20 x 10) – 25 ÷ 10 = ? 

(a) 0 

(b) 10 

(c) 20 

(d) 25 
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118. Two statements are given. Assuming these to be true, two inferences have been drawn. Choose 

the correct alternative from the given answers: 

 

Statements  1. All pens are birds 

   2. All cats are birds 

 

Inferences  I. Some cats are pens 

   II. Some birds are pens 

 

(a) Both inferences follow the statements 

(b) None of the inferences follow the statements 

(c) Only the first (I) inference follows the statements 

(d) Only the second (II) inference follows the statements 

 

 

 

 

119. 21 Children are standing in a row, all facing North. Nitin is third on the right side of Shikha. 

Shikha is 9th from the right side end. What is the position of Nitin from left side end? 

(a) 6th 

(b) 12th 

(c) 15th 

(d) 16th 

 

 

 

 

120. Two pipes A and B can fill a tank in 20 and 30 minutes respectively. If both pipes are open 

together, then how long will it take to fill the tank? 

(a) 12 minutes 

(b) 15 minutes 

(c) 25 minutes 

(d) 50 minutes 
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118. nks dFku fn;s x;s gaS] tks lR; ekus x;s gSaA buds vuqlj.k ls nks fu’d’kZ fudkys x;s gSaA fn;s x;s 

mÙkjksa esa ls lgh fodYi pqfu;sA 

 

dFku% 1- lHkh isu fpfM;k¡ gSaA 

 2- lHkh fcfYy;k¡ fpfM;k¡ gSaA 

 

fu"d’kZ% I.  dqN fcfYy;k¡ isu gSaA 

 II. dqN fpfM;k¡ isu gSaA 

 

(a) nksuks fu’d’kZ dFkuksa dk vuqlj.k djrs gSaA 

(b) nksuks esa ls dksbZ Hkh fu’d’kZ dFkuksa dk vuqlj.k ugha djrkA 

(c) dsoy fu’d’kZ I, dFkuksa dk vuqlj.k djrk gSA 

(d) dsoy fu’d’kZ II, dFkuksa dk vuqlj.k djrk gSA 

 

 

 

 

119. 21 cPps mÙkj fn”kk dh vksj eq¡g djds ,d iafDr esa [kMs+ gSaA fufru f”k[kk ds nkbZa vksj rhljk gSA f”k[kk 

nk,¡ fljs ls 9oha gSA fufru dk ck,¡ fljs ls dkSu lk LFkku gS\ 

(a) 6 ok¡ 

(b) 12 ok¡ 

(c) 15 ok¡ 

(d) 16 ok¡ 

 

 

 

 

120. nks ikbZi A rFkk B] ,d VSad dks Øe”k% 20 rFkk 30 feuV esa Hkj nsrs gSaA ;fn nksuksa ikbZiksa dks ,d lkFk 

[kksy fn;k tk, rks VSad Hkjusa esa fdruk le; yxsxk\ 

(a) 12 feuV 

(b) 15 feuV 

(c) 25 feuV 

(d) 50 feuV 
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Hkkx & III lkekU; fganh 

121. buesa ls dkSu&lk “kCn ^taxy* dk i;kZ; gS\ 

(a) foVi 

(b) dkarkj 

(c) nzqHk 

(d) o`{k 
 

 

122. *—‘.kk^ “kCn buesa ls fdldk i;kZ; gS\ 

(a) jk/kk 

(b) #fDe.kh 

(c) nzksinh 

(d) ;”kksnk 
 

 

 

123. ^”kSytk* i;kZ; gS% 

(a) fgeky; dk 

(b) ikoZrh dk 

(c) “kph dk  

(d) y{eh dk 
 

 

124. *xaxk^ dk i;kZ; ugha gS% 

(a) galtk 

(b) nsokixk 

(c) HkkxhjFkh 

(d) lqj lfjrk 
 

 

 

125. *?kksM+k^ dk i;kZ; gS% 

(a) xnZHk 

(b) xt 

(c) g; 

(d) ew’kd 
 

 

126. ßJh—‘.k ds vusdksa uke gSaAÞ okD; esa v”kq) “kCn gS% 

(a) vusdksa 

(b) Jh—‘.k 

(c) uke 

(d) dksbZ ugha 
 

 

 

127. v”kq) okD; Nk¡fV,% 

(a) os ijLij ,d nwljs ls feyrs gSaA 

(b) jke foyki dj jgs FksA 

(c) rktegy cgqr lqUnj gSA 

(d) lalkj jax”kkyk ds leku gSA 
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128. ”kq) okD; crkb,% 

(a) tkequ cgqr ehBh gSaA 

(b) vkt dkfyt dh cqjh gky gSaA 

(c) izHkkdj papy T;knk gSaA 

(d) ekSle vR;Ur lqgkouk gSA 

 

129. lgh orZuh okyk “kCn Nk¡fV,% 

(a) lalkfjd 

(b) lkalkjhd 

(c) lkalkfjd 

(d) lalkjhd 

 

130. ”kq) okD; Nk¡fV,% 

(a) “khyk ?kj ij ugha gSA 

(b) “khyk ?kj ugha gSA 

(c) “khyk ?kj ds vanj ugha gSA 

(d) “khyk ?kj esa ugha gSA 

 

131. ^vK* dk vk”k; gS% 

(a) lc dqN tkuus okyk 

(b) eu dh ckr tkuus okyk 

(c) tks dqN ugha tkurk gS 

(d) v/kwjh ckr tkuus okyk 

 

132. ßfglkc fdrkc dh tk¡p djus ds fy,Þ “kCn gS% 

(a) izs{k.k 

(b) vads{k.k 

(c) fujh{k.k 

(d) iqufuZjh{k.k 

 

133. ßxq# ds lehi jgus okysÞ dks dgrs gSa% 

(a) vUr% oklh 

(b) ouoklh 

(c) vkJeoklh 

(d) egoklh 

 
134. *egy ds Hkhrj dk Hkkx^ dgykrk gS% 

(a) vkarfjd izdks’B 

(b) vUreZgy 

(c) vUr% iqj 

(d) jktegy 

 



AEA 46 SERIES-A 

135. ^deZB* dk rkRi;Z gS% 

(a) deZ tkuus okyk 

(b) /keZ djus okyk 

(c) /keZ&deZ djus okyk 

(d) deZ djus okyk 
 

136. *uwru^ “kCn dk foykse gksrk gS% 

(a) v/kqukru 

(b) v|ru 

(c) lukru 

(d) iqjkru 
 

137. lekl dk foijhr vFkZ gksrk gS% 

(a) laf/k 

(b) O;kl 

(c) foPNsn 

(d) lekIr 
 

138. ^m’.k* “kCn dk foyksekFkZd “kCn gS%& 

(a) rki 

(b) xje 

(c) “khr 

(d) uje 
 

139. *vkjksgh^ dk foykse gS% 

(a) vojksgh 

(b) m/oZ 

(c) mPp 

(d) fuEu 
 

140. *mRFkku^ dk foykse gksxk% 

(a) vf/k’Bku 

(b) iru 

(c) ueu 

(d) izLFkku 
 

141. buesa ls rRle “kCn pqfu,% 

(a) ?kks’k.kk 

(b) eg¡xkbZ 

(c) HkÙkk 

(d) Nqêh 
 

142. ^iape* dk rn~Hko :i gS% 

(a) ik¡pok¡ 

(b) iap 

(c) iat 

(d) iUnzg 
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143. *jkT;iky^ “kCn gS% 

(a) rn~Hko 

(b) ns”kt 

(c) rRle 

(d) fefJr 
 

144. rRle #i okys fodYi dk p;u dhft,% 

(a) vk¡oyk 

(b) vkeyd 

(c) vk¡oyd 

(d) v¡oyk 
 

145. ^fdlu^ “kCn dk rRle :i dkSu lk gS% 

(a) dkUgk 

(b) dUgS;k 

(c) fdjlu 

(d) —‘.k 
 

146. Þlqgkouk ekSle vPNk yx jgk FkkÞ bl okD; esa fo”ks’k.k gS% 

(a) yx jgk Fkk 

(b) vPNk 

(c) lqgkouk 

(d) ekSle 
 

147. ÞlqxafU/kr gok /khjs py jgh Fkhß bl okD; esa fo”ks’k.k gS% 

(a) gok 

(b) lqxafU/kr 

(c) /khjs 

(d) py 

148. ßog cgqr datwl gSAÞ okD; esa fo”ks’k.k gS% 

(a) og 

(b) datwl 

(c) cgqr 

(d) gS 
 

149. Þvpkud rst o’kkZ gksus yxhß okD; esa fo”ks’k.k gS% 

(a) o’kkZ 

(b) rst 

(c) vpkud 

(d) pyus yxh 
 

150. ßlqUnj ckyd g¡l jgk gSAÞ esa fo”ks’k.k gS% 

(a) lqUnj 

(b) g¡l 

(c) jgk gS 

(d) ckyd 


